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PART - B
ZOOLOGY

(Maximum : 30 Scores)

PART -1

Answer any three questions from 1 to 4. Each carries 1 score.

Mention any one of the factors that affects Hardy Weinberg equilibrium.

Embryo with 8-16 Blastomeres is called

Expand SNPs.

State the term indicating the ceasing of menstrual cycle.

Answer all questions from S to 6. Each carries 1 score.
The World Summit on Sustainable Development was held in 2002 in , South

Africa.

The first antibiotic discovered was

PART - 11

Answer any two questions from 7 to 9. Each carries 2 scores.
Write any four characteristic features of individual inflicted with Down’s syndrome.

Time : 1 Hour

3x1=3)

2x1=2)

2x2=4)

Fungi forms symbiotic associations with plants. What advantages the plant derives

from this association ?

Complete the table with appropriate terms.

Name of the Disease | Causative Organism | Type of Pathogen |
Typhoid A , Bacteria
B Plasmodium Protozoa
Ringworm Microsporum &
Ascariasis D Helminth
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B. Answer any two questions from 10 to 13. Each carries 2 scores. (2x2=4)

10. Differentiate active immunity and passive immunity.

11. (a) Name the theory of origin of life proposed by Oparin and Haldane.
(b) Who experimentally proved the theory ?

12. Complete the pathway of milk secreted from the alveoli of mammary glands.
Alveoli = (a) — __(b) — Mammary ampulla — Lactiferous duct.

13. Describe test cross and mention its significance.

PART - 111
A. Answer any three questions from 14 to 17. Each carries 3 scores. 3x3=9)

14. ‘Prevention is better than cure’. What are the measures useful for prevention and
control of alcohol and drugs abuse among adolescents ? (Any three measures)

15. Pedigree study provides a strong tool in human genetics to trace the inheritance of a
specific trait.
Define Pedigree analysis and identify the following symbols used in Pedigree analysis :

o [ =0 (i) <>
@iy () w [ F—O

16. The graph __s_howing species area relationship is given,

T S = CA”
logS=logC+ZlogA
E i
2 | >
£ NS
AV
72
i =

(a) What does ‘Z’ and ‘C’ in the equation indicate ?
(b) How is species richness related to area ?
(c) What is the range of ‘Z’ value ?
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17.

18.

19.

20.

Distinguish homologous organs and analogous organs with one example for each and
mention the type of evolution that led to the formation of homologous and analogous

organs.

Answer the following question. Carries 3 scores. (1x3=3)

In Eukarvotes the heterogenous nuclear RNA (hnRNA) is a precursor of mRNA.
Explain the steps involved in the processing of hnRNA.

PART -1V
Answer any one question from 19 to 20. Carries S scores. (1x5=95)
(a) What is the Central dogma in molecular biology and name any two processes
involved in 1t ? |
(b) “In Eukaryotes, gene expression can be regulated at several levels.” Which are
they ?

Diagrammatic sectional view of the female reproductive system is given below.

Uterine fundus

Uterine cavity

[sthmus
— WXDin 148 QIR Fallopian

: . e o i Infundibulum

B\

C

i

Endometrium
Myometrium

Perimetrium
Cervix

n D |

Vagina

(a) Identify the parts labelled as A, B, C and D.

(b) Mention the surgical contraceptive methods in male and female and name the part
which is cut or tied up in each method.
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